®1 RIGRERFRROFMER (KA

L
; ¥ | e 5 3 B REEEERFR(F)- REEEEREE (%)
2 i %) Iﬂ(ti)g g}g CEBEREDH g | &
=i BRGE & #e = | = | SEHER R
% g ﬁ‘—f{ﬂ £ %ﬁﬁfﬁﬂ,b a | & EEEE%ﬁ BRI -mALE BEDH BRIDH RA- B
o T = SFIEX R 0 8 15 D E AR SR MO A DR B A O (dB) £ | ® ml REEUT LEELB LEELB LEELB
B | (R p 2 3 £ | O
%2 B = i a b c d e
ﬁ i :b+c+d+e
m & &
=
BR | % km)|  (F) (F) (%) (F) (%) (F) (%) (F) (%)
1] 2015|=&a205| 4] - |4 A A AR 7 SR BT T 3 £ 58 A0 7 [ AT 7 3 3 - - - - 34 1.6 456 456| 100.0 0 0.0 0 0.0 0 0.0
2| 2015|mE3208| 4| C | & sl SRS BEETF 5 AR SRS BEETF 5 AR 5 AR ET 5 AR R 835-4 68 63 | H26 34 1.4 513 513| 100.0 0 0.0 0 0.0 0 0.0
3| 2015|-mmesors| 2| - |4 = EREM/N\EHEAMFTEE ERE/NEHAFTHETF J\E HEBT R R F809 67 59 | H26 35 1.5 87 87| 100.0 0 0.0 0 0.0 0 0.0
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